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fhrrr CHAPTER 5
FRACTIONS

5.1 | BASIC CONCEPT

If a certain quantity of rice is divided into four equal parts, each part so obtained

1
is said to be one-fourth (-ﬂ of the whole quantity of the rice.

1
S_imilarly, if an apple is divided into five equal parts, each part is one-fifth (3] of
the whole apple. Now, if two parts of these 5 equal parts are eaten, three parts are

3
left, and we say three-fifths [E) of the apple is left.

f b

e o .
The numbers 2’5 and 5 discussed above, each representing a part of the

whole quantity, are called fractions.

- A fraction is a quantity that expresses a part of the whole.

To make the concept of fractions more clear : “
Draw a circle with any suitable radius.
Divide the circle into three equal parts (sectors).
If two parts of the three equal parts be shaded, we say

2 1
3 (two-thirds) of the circle is shaded and = (one-third) of the
circle is not.

e . e .
In the fraction B ais the numerator of the fraction and b is its denominator.

NUMERATOR
FRACTION = SENOMINATOR

r
Thus, in fraction 17 numerator = 7 and denominator = 11.

1. The numerator and the denominator are also known as the terms of a fraction.

2. Every fraction must be expressed in its lowest terms. In other words, the terms of a fraction
must not have any common factor except 1(one).

3 15

7
Fractions ?, -ﬁ* and -13, are in their lowest terms, because the terms of each of these

fractions have only 1 (one) as common factor.

3 5 out of 7 means a given quantity is divided into seven equal parts and five of these equal
parts are taken.

&
111&15.50utof7=—7-.
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9.2 TYPES OF FRACTIONS

1. Proper Fraction :

A fraction whose numerator is less than its denominator is called a proper

; 4r 34014 8
fraction, e.g. 5' 7 235° 7’ 14 etc.

Improper Fraction :

A fraction whose numerator is greater than or equal to its denominator is called
an improper fraction.

7 9B g —
e.g. (i) 5’127 62 ° etc. % Numerator I_S_geater than dfnomlnator}

—

R T BE
(ii) B e etc. aumerator is equal to denominator ;

——

N

| If the numerator and the denominator of a fraction are equal, the value of the
~ fraction is unity (1).
4 L8

eg. 7 = el el

3. Mixed Fraction :
A mixed fraction consists of two parts : (i) an integer and (ii) a proper fraction.

T T T ——

2l : ; S | -
e.g. 4—-3- Is a mixed fraction, consisting of an integer (4) and a proper fraction (—]

3
| 2 9 s 5 1 1
: 3—=3+—,8—=8+ —,2—=-|2+— i
5 : 5 + 5 3 ( +8] and so on
Conversely,

3 3 4 4 5 5 5

2% — =2= 7T+ — 7= s iar b | Tt .

3 3 +9 5 : [8+6] 86 and so on

4. Like and Unlike Fractions :

Two or more fractions with the same denominator but different numerators are
called like fractions.

3= T 2T Ay vt : :
— , efc. are like fractions.

O4:. g g priEoEh
Two or more fractions with different denominators are called unlike fractions.
SIAREE e B A

e.q. 0B A Bl

-

etc.

5. Equivalent Fractions :

If two or more fractions have the same value, they are called equivalent or equal
fractions.

3 8 o 1.5 B

: 1 . :
e.g.the fractions 3' 9’18 and > are equivalent fractions as 358 Fagi
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The value of a fraction does not change if its numerator and denominator are both
multiplied or divided by the same non-zero number.

e.g. - an 72 ie. 3 an 12 are equivalent fractions.
15 15+5 15 3 : .
Also, 20 and 20 + 5 ie. 20 and 2 are equivalent fractions. |

53| CONVERTING A MIXED FRACTION INTO AN IMPROPER FRACTION

Multiply the integral part by the denominator and add the numerator to the product.
The result so obtained is the numerator of the required improper fraction.

The denominator of the required fraction will be the same as the denominator of
the given mixed fraction.

i
Thus, for the mixed fraction 3;5,

Integral part x Denominator + Numerator
Denominator
(3x15)+7 45+7 _ 52

the required improper fraction

15 5 05 & 15
e 3 5x4+3 20+3 23°
Similarly, 53 T s ST
72 £ 7xX6+5 3 42 +5 # ﬂ q
i 5 = e and so on.

54| CONVERTING AN IMPROPER FRACTION INTO A MIXED FRACTION

Divide the numerator by the denominator. The quotient of this division is the integral
part and the remainder obtained is the numerator of the required mixed fraction.

Of course, the denominator will remain the same.

23 Remainder

. x|
Thus, Sisis. Quotient Denominator 0 4

On dividing 23 by 4, quotient = 5 and remainder = 3.

ger 37 ; Remainder 5
S any. go~ Quotient 5o Cminator — % 8
41 5 73 1
3=4§, E=612 and so on.

55| CONVERTING UNLIKE FRACTIONS INTO LIKE FRACTIONS

Steps :
1 Find the L.C.M. of the denominators of all the given fractions.

2. Multiply the numerator and the denominator of each fraction by a same
suitable number so that the denominator of each fraction becomes equal to
“the L.C.M. obtained in step b

41
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Example 1 :
3 1
Convert 71 B and — into like fractions.
Solution :
L.C.M. of denominators 7, 5 and 3 = 105 [Step 1]
3 L h & ) 45 4 4% 2 84 1 1% 35 35
NOW, 7 = 9x15 ~105°'5 © Bxel" e CliE - aeaE r LA
<N WPRPR R Yl e -
7' 5 and 3 = 355 ToE and 105 respectively (Ans.)
EXERCISE 5(A)
1. For each expression given below, write a fraction :
() "2uutoryE e ()"0 ot 17 ="tk (iii) three-fifths = ..........
2. Fill in the blanks :
s . A {2 RN .
(1) g 18 s fraction. (ii) B IS fraction.
k. =l : : 5
(i) ¢ 15 IS . s« TTECTHION, (iv) The value o BT ;
3] :
(v) The value of Tg T e (vi) 3—— LS fraction.
W 7 . o G 23 :
(vii) 1 5 and are . ... fractions.  (viii) 15 and 15 A€ e, fractions.
. 6 28 ; 8 ;
(ix) 15 and 0 M€ . fractions.  (x) 2 2 and 3o are glo) gt fractions.
: 2 X1 ;s 3
(xi) 313 13 R T, (xi) -—45 ek ok = piihonkaart

3.  From the following fractions, separate (i) proper fractions and (ii) improper fractions :
2 4 7 11 30F i

9’ "3’ 15" 20! T}, 23 'aEe
4.  Change the following mixed fractions to improper fractions :

(i) 2l i 3l i 7l (iv) 21
5 W WG bR T
! Change the following improper fractions to mixed fractions :
w2 . A 209 , 113
I - (i) = U (v) - <&
6. Change the following groups of fractions to like fractions :

0 . 23 1 e Sl Ui
3' 5 2's W g gragifp WS SR

5.6 | REDUCING A FRACTION TO ITS LOWEST TERMS

A fraction is said to be in its lowest terms if its numerator and denominator have
no common factor other than 1, i.e. the numerator and the denominator are co-prime.

4e
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To reduce a fraction to its lowest terms :
(i) find the H.C.F. of its numerator and denominator.
(i) divide each term of the fraction by the H.C.F. obtained in step (i).

For example :

: 48
Consider the fraction 80"

As the H.C.F. of 48 and 60 is 12, divide both numerator and denominator by 12.

Thus, o = il = E, which is the fraction in its lowest terms.
60 60+12 b5

45+15 _

ol
fo+1y O

If both the terms of a fraction are divided or multiplied by the same number, the
value of the fraction remains unchanged.

Similarly,

Alternative method :

First express each term of the given fraction as a product of prime factors; then
cancel the common factors.

48 Fuciincdxd "2x2. 4
=z

T R A Y T 5
In the sam 45—~ Axoxm. .3 . nd60'on
n the same way, —- = Zigis = 5 2 .

5.7 | COMPARING FRACTIONS

Comparing fractions means comparing their values to find out which of them Is
greater or smaller.

Example 2

Which fraction is greater, ?8- or % it
Solution :
Step 1:

If two fractions have
the same denominator,
the greater fraction has
the greater numerator

1. Convert the given fractions to like fractions.

5 The fraction with the greater numerator is greater.

Since the L.C.M. of the denominators 8 and 12 = 24,
3 P 9 and a axe - 10

8 8x3 24 i e 24
Step 2 :
See the numerators of these like fractions. The numerator 10 is greater.
e . .5
— 1.8, — ’ Ans.
o 18 18 greater (Ans.)

Alternative method :

Fractions can also be compared by making the numerators equal and then comparing
the denominators. In this case, the fraction with the smaller denominator is greater.

43
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Since the L.C.M. of the numerators 3 and 5 = 15,

J . 9XE s NON iy s it
8. 8x5 40 12 VO TPRDT gl !
For the same numerator, the fraction is greater if the
. e
6 l.6. 15 IS greater.

Example 3

12

. : i 8
Which of the given fractions is smaller, — or o5 ¢

15

S0iution :

First method : By making the denominators equal :
Since the L.C.M. of denominators 15 and 25 = 75,

8825 4B L R
15 = 15x5. 75 T 55 Hn Ui
Henc C .. all
e 75 l.e. o5 IS Smalier.
second method : By making numerators equal :
Since the L.C.M. of numerators 8 and 12 = 24,
8 _.8x3 2R
15 = 15%8 ~ 45 SNSE  Sepste ey
i Lo e s | BT s
ence 50 . o5 1S Shalier.
ample 4
: - TR 9
r By S .. s
Compare the fractions 3'2' 1o and 16

'.-._ }:--\;.-v- L
S0I1UIIOTN

Since the L.C.M. of the denominators 3, 4, 12 and 16
2 2%x16 32 3 B
B sruc BB AR 4 T adp
5 5x4 20 9 9x3
12 ~'12xd = 4g 0> aDES § SR

= 48,
& 16_ Making the
48 denominators
] gz equal.
48

denominator is smaller.

(Ans.)

With equal denominators,
the fraction with
the smaller numerator
is smaller.

(Ans.)

With equal numerators,
the fraction with
the bigger denominator
is smaller.

(Ans.)

by writing them in the descending order.

See the numerators of these like fractions. The fraction with the largest numerator

Is largest.
The largest numerator is 36 = =
€ larg - 48 I.e. 2
Th llest tor is 20 29 e ool
e smallest numerator is 20. 48 Ie. 12
44
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Thus, the given fractions in descending order of value are :

T R S R )

48’ 48° 48 i U URT R b T
: 3 2 9 5 :
4 p e (Ans.)

E 5 “16:7 12

Alternative method - (Comparing fractions by making the numerators equal)
Taking the same fractions as given in the above example,

: - R 9

ie. 317 12 and Y

The L.C.M. of the numerators 2, 3, 5and 9 = 90
2 2x45 90 3 3x 30 90
ST V%45 ~ 135 LA 80 <120’ Making the
.. g 5x18 L 90 o 9 i 9x10 ;. 90 "ur:;::?rs
12 12x18 216 16 16x10 160

We know that, with the numerators being the same, the fraction with the smallest denom_'fri_éfar"!_
is the biggest fraction and the fraction with the largest denominator is the smallest fraction.

00 . : _ S0 .
Thus, -5 1S the biggest fraction and 216 'S the smallest fraction.

90 9 90 90 ; ;
And so, 120’ 135° 160 and 16 are in the descending order of value,
o 3 2 9 4> arein the descending order of val
6. 2 3 16 and - are in the descending order ot value,
. 3 2 9 3 TR
B epetit Sl Bl T (Ans.)

4 3 16 12

For the example given above, the fraction can be written in ascending order

- EXERCISE 5(B) R i
1. Reduce the given fractions to their lowest terms =

s 8 45 50 s 018
0 o0 (i) =5 (i) 57
: 40 105
(V) 320 V) 70
o State whether true or false :
Eeas 10 P B S e
TR T W 227 % P EEE 5
R R
i — 1— : —_ = 1-.—
3. Which fraction is greater ?
i = 2 = 3 (iii) A, Ak
& 3 g X 3 5 "85
45
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Which fraction is smaller ?

N i o B I gt
(i) g o ¢ (ii) 5 O - (iii) 56 % 39
Arrange the given fractions in descending order of magnitude :

W g B o 00 8
0 36 22" B W F i g iy 7+ 81
Arrange the given fractions in ascending order of magnitude :

a0 KR i Bkl Tl 28

| bought one dozen bananas and ate five of them. What fraction of the total number of
bananas was left ?

Insert the symbol ‘=’ or ‘>’ or ‘<’ between each of the pairs of fractions given below :
6 ) £33 9 56 7

(ipe =& ¥ = (= = olld =R S¥8 iy T =

Out of 50 identical articles, 36 are broken. Find the fraction of :
()  the total number of articles and the articles broken.
(i)  the remaining articles and total number of articles.

T ————————————————————————————————————————————————————— e

‘ 5.8

FUNDAMENTAL OPERATIONS ON FRACTIONS
The four fundamental operations are addition, subtraction, multiplication and

division.

2.9

ADDITION AND SUBTRACTION

For e

(i)

Steps :
1. If any of the given fractions is in mixed form, convert it into an improper fraction.
2. Convert the fractions obtained in step 1 into equivalent fractions.

3. Keeping the denominator same, as obtained in step 2, combine the numerators
of the equivalent fractions and obtain a single fraction.

4. Reduce, if required, the fraction so obtained into its lowest terms and then
Into a mixed fraction.

xample :

5 2 3 5
— 4+ — (ii) 1;——

4 5 6
L.C.M. of 4
2, 8%5 F2x4 . QR B
4x5 = 5x4 7 6 |
L.C.M. of 7
15 . 8. 5 12x6  5x7
20 20 b 6x7

15+ 8 s 3 72 35 €55 37

20 20 20 e e e T

I

l
|
|
|

46
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Add the following fractions :

S
8

12 10 9 il
— o s L Converting into
12x4 o AT b 0, :
S YT + T [L.C.M. of 5, 4 and 2 is 20]
g8 b 90 48 — 75+ 90 63 3
B BD. i . 3D 20
e 3 7 e 1 3
(i) 5 2@ and 10 (ifii) 15, 15 and 1:1‘
Bl D : 1 5 3
(V) 25, 18 and SE (Vi) SE' 51—2" and 16
3 5 5 3 13
(ii) 22 — 1E (iil) 2-7',' ey
3 8 3 5 3
(V) 6+TC-}-—1E (vi) 1z+2-7'—1ﬁ
1 1 , 5 1 3
(viii) 6—35 —23 (ix) 1-8- _EE +32
: 3 Tt 2
(xi) 4"5— —25 e b

15 45

(i) 1% and %
. < S
(iv) 32, 23 and 1—
2. Simplify :
: | g ) |
d T e
, 5 1 1
(iv) 3-6 A 135
2 1 1
(vii) 4 +3*§ —3*‘6—
1 2 1
(x) 3—2' + 15 —2;
5.10

Srepsl for multiplication

1.  See that each given fraction is in proper form or improper form, i.e. no fraction
is in mixed form. -

2.  Multiply the numerators of th

MULTIPLICATION AND DIVISION

e fractions together to get the numerator of the

resulting fraction, and also multiply the denominators of the fractions together
to get the denominator of the resulting fraction

3. If required, reduce the resulting fraction obtained in step (2) into its lowest
terms and then into a mixed fraction.

Example 5 :
Simplify :

()
Solution :
(i)

@ 2

3
EXS

-
(II) 23)(*{5
B 9xs 15 o3
R Axh. &4 A
lg _5__12><5_,2’><2><,3’><,8’_
X318 5x18 = Fx3%x3x2
47
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For division :

Multiply the dividend (the first fraction) by the reciprocal of the divisor (the second
fraction).

! | i AR G A

1. Reciprocal of = e reciprocal of 15 = g andsoon.

| 1 1 1

| 2. Since, 5 = %; reciprocal of 5 = 5 Similarly, reciprocal of 8 = e reciprocal of 15 = 15

| and so on.

For example :
* “ 3 .48
2 ."=Ex§=£=1_1 Reciprocal of — is —
3 e AN e 9 S

1 5.11 | COMBINED OPERATIONS OF MULTIPLICATION AND DIVISION

In such cases, first the operation of division is completed and then of multiplication.

Xxampie o .

N |-

3 4
Simply : Frsa

7 o
. 3 .4 253 @~ Aeci iy
Y oaes AU GE procal of is

Since, 8 ¥ 7 8 X2 32 7 T
3 4 1 21 1 21x1 21 s
e e oy Ve y
8.0 7.0 8 S s s

. 3 4 1. 8 7, i S

or, directly : o T XD =g X R (Ans.)

|

12 | USING * of > ALONG WITH MULTIPLICATION AND DIVISION
Apart from Addition, Subtraction, Multiplication and Division, there is one more
operation, termed ‘of.

The word ‘of written in between two fractions or numbers is to be worked out just
as if it were a multiplication sign, but it is to come even before division and multiplication.

[ T Tl '--'J-'"E i
O exarripie

. < S kb
(1) 5 Rl g i
3 3 9
= 2_9. Operating 'of' we ge_t:—of——=_:|
B 2 4.
L8 eeaRl
T .8 Ay
. > P Dl 4
(i) -é-oquaﬂz
5 3 5. & 15 5
=E-'-Z‘X:—3“ I:As,_Of_=—)(—= l:—]
B« .8 2 6 . A AT AR
5.. 58 3_5x5x3_5_1l
= 8 X T A BT BN R L e

48
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5.13 | USING ‘BODMAS’

“BODMAS’ is the acronym (abbreviation) formed by taking the initial letters of the
six operations, where :

‘B’ stands for “BRACKET”

‘O’ stands for “OF”

‘D’ stands,for “DIVISION”

‘M’ stands for “MULTIPLICATION”
‘A’ stands for “ADDITION”

‘g’ stands for- “SUBTRACTION”

While simplifying an expression involving three or more operations, the order of operationsjn
must be the same as in the order of letters used in ‘BODMAS' |

Fractions inside
brackets are to
be operated
(combined) first

|
]

For example :

1 1 5 3 1 4 Using BODMAS;
(1) 12 Rea * 5 =5 X0m X 5 division is done first
3x1x4 _1
exladxy 10
(i - P | "‘ ] W Using BODMAS;
I oh v gk Srrwladlr | bracket is
3 9 9 ") simplified first.
o
B [t 5
3 9 10 4
Bt i e [7 51 :Tx5 7]
- — e = = = g M= e
3 B0 i e l0x4 8
1 B 3¥E 1,2
N R =3 "9 - 9 ‘"9
Example 7 :
2 9 9 2 4 1
i 1 o | -4 — | B i —
Smplﬂ‘y.[3 g)of el
Solution :
11 9 2 4 1 [ i P D o8 648 11|
i e _— - = = - = Removing 'bracket', we get : -+ = -
gl F3 X5 05 B 9
BiC8; 4c! 1 e P m. gk 9 1)
2
j lxﬂxi_l=1>’~3>‘4_l=§_l=_ (Ans.)
R s o8 i2x28%5° 5 5 O 5

e
49
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EXERCISE 5(D)

Simplify :
b 228 g £ R e
| 7 X 5 (i) g X3 (iii) 15 X
L ;3 o8 rad- i
6 g V) 05 R Sl i
oo N Bl
(vii) 7 X g X4% (viii) g x17 of 17
Simplify :
. 2 1 e lnmnl 2
(i) 3 -.—15 (ii) 42 9 (iii) 175
3 "9 (V) 5 1 (vi) 3x32729
Simplify :
‘ 1 25 3 1a "es ™ 1 3
(i) 4of2775 (ii) 14x2713 (iir) 67XOX58
3 1. o 5 1 2 Jo P o 1
(iv) 4x13-.-7of28 (V) 24770f13><~§ (vi) (7-2)0“?

r { 1 1 1
(vii) (1§+1~2*J of (85“5] (viii) %0f60+60
Simplify :

£ N gt B o e
0 s-[355) o 3 +(57s)
3

(i 2-1-[55*'32} (iv) 3%-35]7-21-

4 & T aFs i1 b
o 332 w33
el g B
o (1-3)a(3-5)(E-2)
Simplify :

iy I - TR Tt
0 (z+3)+ (i) o {55 At

3 2 1 B 5 -3
(iii) Zof6§—§0f2z (iv) anf(§+ﬁ)_(-€—g]

1 1 3 %13
(V) 25—-35 ><174- +2-§ (i) 4%(35—5)

1 2 amteak B o Uen, 1

(vii) %01(;‘1—2“)01‘13 (wviii) (5_5) [Z_E]-(E_%'*'%]

50
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Besita Befido, € 1
™) E-E(E*'ﬁ) T 4%*(3'5]%%*%1

e f 40 1?-
(xi) 5 © oty

M e o — —— s v

5.14 | PROBLEMS INVOLVING FRACTIONS

f2-2- 2l 0
09+5>(

Example 8
A man earns T 7,500 per month. If he saves % of his earning, find :
(a) his savings per month (b) his expenditure per month.
Solution :

1 , \
2 of his earning

1 1
i of T7,500 =% A 7,500 = ¥ 1,875 (Ans.)

(b) His expenditure per month = T 7,500 - 1,875 = X 5,625 (Ans.)
Alternative method :
In fractions, the whole quantity is taken as 1.

(@) Savings per month

: 1 ; .
Since the man saves — of his earnings,

4
. : 1 4 -1 3 . .
his expenditure = 1 — T T AT of his earnings.
=> Expenditure per month
- % Bl ¢ 73500 = < 5,625 (Ans.)

Example 9 :

: 5 1
There are 12 dozen bananas in a basket. 24 of them are rotten and 3 of them
get eaten. How many bananas are left "

Solution :
Total number of bananas = 12 dozen = 12 x 12 = 144
5 5
No. of rotten bananas = >4 of 144 = 27 X 144 = 30
1 1
No. of bananas eaten = 3 of 144 = 3 X 144 = 48
Since 30 + 48 = 78
L No. of bananas left = 144 — 78 = 66 (Ans.)
Example 10 :

A man spends —E— of his money and is left with ¥ 30. How much did he initially
have ?
Solution :
membe ._WB solving problems on fractions, the whole quantity is always considered 1.

51
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Since the man spends % of his money,
Money left with him = (1 = g] of his money = % of his money
Given : % of his initial money = ¥ 30
Initially he had = Y 30 x 2 =X 50 (Ans.)

3

Example 11 :

1
After travelling 10 km, Dev found that — of his journey was still left. How long

3
was his total journey ?
Solution :
: 1 . ;
Since 3 of the journey is left,
1 2 : .
therefore, 1 — A Ha of the journey is completed.
: 2 .
Given : 5 of the total journey = 10 km
Total journey = 10 km x -g— =15 km (Ansﬁ)

10.

—— EXERCISE 5(E)

1 5
From a rope 105 m long, 45 m is cut off. Find the length of the remaining rope.

: . s . 1 :
A piece of cloth is 5 m long. After washing, it shrinks by 25 of its length. What is the
length of the cloth after washing ?
1

1 3
| bought wheat worth ¥ 12, rice worth ¥ 25— and vegetables worth ¥ 10 2

4
hundred-rupee note to the shopkeeper; how much did he return to me ?

. If | gave a

3 1
Out of are 500 oranges in a box, o5 are bad and 5 are kept for some guests. How

many are left ?

1
An ornament piece is made of gold and copper. Ilts total weight is 96 g. If ’T) of the
ornament is copper, find the weight of gold in it.
A girl did half of some work on Monday and one-third of it on Tuesday. How much will
she have to do on Wednesday in order to complete the work ?

3
A man spends 8 of his money and still has ¥ 720 left with him. How much money did

he have at first ?

4
In a school, 5 of the students are boys, and the number of girls is 100. Find the number
of boys.

3 _
After finishing 2 of my journey, | find that 12 km of my journey is covered. How much

distance is still left to be covered ?

When Ajit travelled 15 km, he found that one-fourth of his journey was still left. What was
the full length of the journey ?

52
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. food
100“0 :

2
25 ON holidays. How much did he save in that

In a particular month, a man eams 7.200. Out of this income, he spends

1

— on insurance and

1
2 on house-rent, 10

month ?

Revision Exercise (Chapter 5)

< 2 5
Show that 7 lies between : and =
L g
7w1||hebetweensand7|f.
k- A - TSR (]
g 7
s .2 3 _5
On comparing ¢, < and 7.wef|nd. E<7<73
3 2 S
2 lies between : and ==
4 . 3 )
Show that 5 lies between 4 and 6"
Evaluate :
5 4 2 3 : 3 1 1
n 32 - 12 - [35 - 1= e
) “g 15 (9 5] W ison o 2
5 - 7 1 1 i 7 1
-—Of—- _.—)(1— : BT ] ) —
b T T B " g [10 4]

fhas 5
(vi) 8 - {5% - (3 A 2%)}

Mr. Mehra gave one-third of his money to his son, one-fifth of his money to his daughter,
and the remaining amount to his wife. If his wife got ¥ 91,000, how much money did
Mr. Mehra have originally ? .

A sum of ¥ 84,000 is divided among three persons : A, B and C. If A gets one-fourth of it
and B gets one-fifth of it, how much did Cget?

1
In one hour Rohit walks 3% km. How much distance will he cover in 2-2; hours ?

An 84 m long string is cut into pieces, each of length 5% m. How many pieces are
obtained? .

In buying a ready-made shir, two-fifths of my pocket money is spent. If T 540 is still left
with me, find :

(i) the money | had before | bought the shirt.

(i) the cost of the shirt.

Mohan leaves ¥ 1,20,000 to his wife and three children such that two-fifths of this money
is given to his wife and the remaining is distributed equally among the children. Find how
much each child gets ?

Simplify :

5 B .9
. Q= Qf A} sHS
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